
165

Standard Handles

Part number Material A 
(mm)

B 
(mm)

C 
(mm)

Washer Screw

1010041 Zinc,Chrome Plated 6 30 50 M4 M4 X 10

1010042 Zinc,Chrome Plated  6 30 75 M4 M4 X 10

1010142-8 Zinc,Chrome Plated 8 30 75 M4 M4 X 10

1010043 Zinc,Chrome Plated  10 40 100 M5 M5 X 12

1010044 Zinc,Chrome Plated  12 46 115 M6 M5 X 12

1010045 Zinc,Chrome Plated  12 60 200 M6 M5 X 12

Part 
number

Material A 
(mm)

B 
(mm)

C
(mm)

Washer Screw

1010053 Zinc,Black Powder Coated 10 40 100 M5 M5 X 12

Part Number
Chrome

Part Number 
Stainless Steel

Material L
(mm)

H
(41.5)

H
(51.5)

1010061 1010066 Zinc 87 141 151

1010062 1010067 Zinc 100 241 251

1010063 1010068 Zinc 120 341 351

1010064 1010069 Zinc 135 441 451

1010065 1010070 Zinc 150 541 551

Tr
an

sf
or

m
er

 
E

qu
ip

m
en

t
Lo

ck
s

H
in

ge
s

A
cc

es
so

rie
s

R
ot

ar
y 

O
pe

ra
tin

g
H

an
dl

es
E

nc
lo

su
re

s
H

an
dl

es
In

de
x

In
su

la
to

rs




